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() 39 Y9I-9F HI @ YN, YT 3 R YT &, § FieT T E | 39l @Al 9rn &
o] & IR forad & |

(ii) @ J97 S & |

(iii) R I¥T-77 G 551 397 4 FIF 997 919 T8 & |

(iv) STTH YFT I IR YT T F T T & I JAL-JUF 9T B IR T
foraa & 1

() YT D YT GEIT1 T3 & F97 TH-UF 3% & & | 599 I Uk 915§ 379al
TEFFTH G/

(i) YT N F YA GEIT 4 & 6 F I97 -3 IFH F & | T IFW TIYT
30 G 4378/

(vii) NI 37 & ¥¥T G&IT 7 T 18 & F¥T di4-di7 Hl & & | FHH I TTHT
50 JIsGl 4 37 8 /

(viii) 97T 37 & Y97 G&IT 19 T 24 & ¥97 Gia-9ia 371 & & | §9% IT TTHT
70 55l H 37 7

(ix) Y77 & Y97 &7 25 & 33 & Y97 JVICHF 19T R SR Tglashed] Jo7
g | I9% J97 U 3% FT & | 130 70 IR kel § @ 379! dacT Th qad
39YH faheq G 8 |

(x) YT T & 97 G&IT 34 T 36 F I FANIIHE HIVicT W TENRT 31-31 371 &
J97 8 | 59 I GIg 7 37 8 /

General Instructions :

(i) The question paper comprises of two Sections, A and B. You are to
attempt both the sections.

(it)  All questions are compulsory.
(iit)  There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be
attempted separately.

(v) Question numbers 1 to 3 in Section A are one-mark questions. These are to
be answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two-marks questions. These are
to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These
are to be answered in about 50 words each.
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(viii) Question numbers 19 to 24 in Section A are five-marks questions. [hese
are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.

T 37
SECTION A
1. 39 @9 ofl o g wew % AW AR gy fafey feew wme i
C,Hy,,;0H % | 1

Write the name and formula of the second member of homologous series
having general formula C Hy,,1OH.

2. WA 1 A g7 fRau 3R 38k 9] W HgEdS Aeedl i " fHuifa
IR | 1

Write the structural formula of propane and determine the number of
covalent bonds in its molecule.

3. WAl § gUUll % QI HET hl FAT FAET | 1
List two functions performed by testes in human beings.
4. <\ < eamar Y HEd § 239k S.I. A ol gt fafe | 2

What is power of a lens ? Define its S.I. unit.

5. UMEl § 3UFEA g YhR Sl S-SRI o AW fafaw | 39 9 +IE us
3= T | 2

Name two types of germ-cells present in human beings. Give any one
difference between them.

6. T TGl % JA o UGG &M % HI3 Al YW HR [AREGY | T Hi T el
T % A H TGNA BT Mehe A ATl ATl o w@eed o g fhH SRR
BT 21T 7 | 2

Write any two main causes of the pollution of water of the river Ganga.
Explain how pollution of river water is harmful for the health of the
people residing nearby.
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7.  3CTEW 6l TEEAT 8 BIESISHIHN hl Tfshan hl =ame hifore | 39 31fishal o
foTu STawaeh 3t 3R 3cd1g 999 W g arel Hifaes ured | qiEd i Iech@
ot ShifSte | 3

With the help of an example explain the process of hydrogenation.
Mention the essential conditions for this reaction and also state the
change in the physical property with the formation of the product.

8. Tmaffga ot  faamr i (W] shaTes shissehi § fou U §) - 3
Be(4); F(9); K(19); Ca(20)

(a) W ¥ 98 dw@ gAu fFEh Swam wiw o Th soed 8 | 3Eehl
g famare oft fafeu |

(b) ~EHM WY % Gl qeall Bl T |
(0 3fg K(19) foret aw X(2, 8, 7) & sifufsra/=im X, df s=4 9t Aifies
1§ 3R 3Th! yahfd fafem |

Consider the following elements (The atomic numbers are given in
parentheses) :

Be(4); F(9); K(19); Ca(20)

(a)  Select the element having one electron in the outermost shell. Also

write its electronic configuration.
(b)  Select two elements of the same group.

(¢)  Write the formula and nature of the compound formed, if K(19)
reacts/combines with an element X(2, 8, 7).

9,  TETUT <hl URHTST ST | T-RETOT IR -9 o §i9 3Tal T9F hifoe | TRt

Jygferft g & | Ife whm &9 F Ry g &1 g fen 9w q@ off 98 g
T 399 W <dl & | I8 ThE TR BIaT B ? 3

Define pollination. Differentiate = between self-pollination and
cross-pollination. If from a bisexual flower the young stamen is removed
artificially, even then the flower produces fruits. How does it take place ?
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10. ¥Hal gRI MUY W fT o1oeTE SH arent fohmel =R fafem st g=f aqise |
gfe 31T Ueit gRT 3 fAfRr ol I @ 3 UNER & TR 37 e hl

TG W B el IHTE T G989 § Ioci@ hIT, | 3

List any four methods that are adopted by human beings for
contraception. State in brief how the health of a family and prosperity of
a nation is affected, if these methods are adopted either by the husband
or the wife.

11.  “Teqor gl 37T AT Bid & 39 d2d hl ¢4 o ¢ Hed o fhd YR
379 T o GO Rt Sfqured foram 2 989 § saren hifsu | 3

How did Mendel interpret the results of his experiments to show that
“the traits may be dominant or recessive” ? Explain briefly.

12. Yd% 1 Teh-Ush 3B <ol oAl hitoy for fafafiga e s Sfai ®
fohTa 6 98 H JHIOT oA L & 3
(a) UG T
(b) HHEY T
(c) SiameH

Explain with an example for each, how the following provide evidences in
favour of evolution in organisms :

(a)  Homologous organs
(b)  Analogous organs

(¢) Fossils

13. TR 1 FhIUH A1 BIAT § ? $H GRESA H IWAM Hleh AT HIC foh
=D TR AT a7 AT < FHY G ThH Fi Jd1d 3T & | 3

What is scattering of light ? Use this phenomenon to explain why the
clear sky appears blue and the sun appears reddish at sunrise.

14. T Qv F1 8 2 39 QY & G SR hi A TAEY | Tohmr i@ wiaet
STH T o ITANT GHT $Heh TIME shi ST HINT | 3
What is myopia ? List its two causes. Draw a ray diagram to explain its

correction using an appropriate lens.
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15. T=fafed & @ 7o oM@ o1 9 IT-GfEdehl W Eiaeht, a0 o Yvdiq

& fortur & 9 o1 eEIisy | 3
\Nﬁi\u \ %
ng

% "
(i) (ii) (iii)

Draw each of the following diagrams on your answer sheet and show the
path of ray after reflection.

T
7

% "
(i) (ii) (iii)

16. I3 B fhel T % THIRH o4 § 80 cm g W AwWac Hhl Sl
ldferrsl sl T8 < THTRIF g § 20 cm g T TG T BIHE HHAT A1 @ |

(a) 39 TorH ThR o1 0 STINT T IMEY 2 I Figd I T |

(b) @) fora 3t 3ok wldfera & w1 g 3R (i) Tfafers 1 sTae A
i |

() 38 YUl § gfdfars <1 w1 @oia & e ferror s Eifem | 3

A student wants to focus the image of a candle flame placed at a distance

of 80 cm from the optical centre of a lens on a screen placed at a distance
of 20 cm from its optical centre.

(a)  What type of lens should he use ? Answer stating reason.

(b)  Find (i) the distance between the object and its image and (ii) the
magnification of the image.

(c) Draw a ray diagram to show the formation of image in this case.
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17. S e fh8 ad € 2 IeiRe TR W A IRV ¥ Heg IR oA obl yl
STST | 3

What is water harvesting ? List four advantages associated with water
harvesting at the community level.

18. et fommem o “Sohl o@® < SISl WM FUR A I8 Heqy fohal foh o794 &=
% ot frarfi & “Se-frdienfa” ot “ofa-fefiwnia” =t # gus
H hl IMATIRAT FHAN & T “Sreehar ARRE IAT STEw=H & | 38
BET & A1 TE AR AR I b gt T hel oh fadehyul & ¥ fuer
W I STEATIHRAT 1 Hewd THSIT A1 Sl Ufedl & Afaih Hal ot rafrsei
%I B T IR GUST o TG & ot I8 31T AT |
(a) A P G A H YA% Pk TR U HE 6 G AT ohl FAI

S1EY |
(b) =W FHR g fSU ¢ 31 qeht <l = SA1ST |
(¢) WM FAR g YeRid 1 qed ffey | 3

Mr. Kumar, the incharge of “Eco-Club” of a school felt the need of
organising an “Awareness Campaign” for the residents of the nearby
areas to make them realise the necessity of segregating the biodegradable
and non-biodegradable wastes. He went from door-to-door with his
students and gave arguments to explain the people about the importance
of disposal of their household waste judiciously. He also informed them
about the prosecutional provisions in the cases where garbage is thrown
at places other than the specified bins.

(a)  List two advantages of disposing the waste after segregating it in
two categories.

(b)  List two arguments given by Mr. Kumar.

(c) Write two values exhibited by Mr. Kumar.

19. 3WARTT I8 i ICEA-HIC T JIRE@ WAt HHARIT ! AHIRA hHIMT :

JUGIIA, WHITRIS, dfdept, afderm, d=]
TH @ HIEl SN 1 YT 997 Tcdeh ol Teh-Ush 1Y IRay | 5
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Draw a diagram of longitudinal section of a bisexual flower and label the
following :

Ovary, anther, style, stigma, filament

Identify from these the female reproductive organs and state one function
of each.

20. WAl H R % fhdd SIS B @ ? 0 § ol UEET % SISl shl HEA F
8 ? wHal # fohad YR < ToT TUrgd 9w S g ? “Amal § TRl qawma g
&1 form A TAm ? qun SRl (Arar-far) ° @ fereft r oft gaeh fon soRerEht
T O ST Gl |7 39 e i gfee fem-fayftor <t wfskan i gwiiv arer yarg
M@ Tt ST | 5

How many pairs of chromosomes are present in human beings ? Out of
these, how many are sex-chromosomes ? How many types of
sex-chromosomes are found in human beings ? “The sex of a newborn
child is a matter of chance in human beings and none of the parents
(mother-father) may be considered responsible for it.” Justify this
statement by drawing a flow chart showing the process of
sex-determination.

21. (a) TICE gUUN o HeW W FAfARad uql il STR@i I HEET € RS

T :

i g4

(i)  Ishdl g
(i) g&F 4

(b) F=fafea sm@ w fomm hifSw | 388 M $i5 o 8, P &I forw B
3R YT g ST Q $HhT Uil 2 :

Q

1
;
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(i) <Y M ThR 1 Iooid <hiflu |

(i) A 39 U s Blpd gl HT HAifhsh HH 15 cm &, I G40 |
forar <1 gl =1 wiER e &1 =i 2

(iii) 39 YWl H QYU g1 Afdferd o991 eoi4 o fou femeor s
Hifeu | 5

(a) Explain with the help of diagrams the following terms in the

context of spherical mirrors :
(1) Pole
(11) Centre of curvature

(iii)  Principal axis

(b)  Consider the following diagram. In this M is a mirror, P is an

object and Q is the image of the object formed by the mirror :
Q

M

Pl
.1 E
1) State the type of mirror M.

(i)  If the numeric value of focal length of the mirror is 15 cm,
what must be the range of distance of the object from the
mirror ?

(iii) Draw a ray diagram to show the formation of image in this
case.

22. 39d Yk & fI&gur < genrer fortor s diwet satear hifse | wod g &
a1 e h8 YR TohaT ST Wehal g, 39 ATHIhd foht0l T@ i
HEET § eisy | 5

Draw a ray diagram to explain the dispersion of white light. With the

help of a labelled ray diagram, show how a spectrum of white light may
be recombined.
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23. HEA g JEIq: TgEAS AE-El gRT & ATkl ol AT L b RO i
ST HIT | 37 3 TI@ HRUN B i@ hITTT AT e gRI TcAfTh T&qT
T ANfient w1 FHior foer S & fow SaRer 8 | a8 +ft wuse fifSe T e g

3= Tt o w1 Tfa ferekrer Aifies S1foer &9 6 ol = g & | 5

Explain the reasons why carbon forms compounds mainly by covalent

bonds. State two main reasons responsible for carbon making a large
number of compounds. Also explain why compounds formed by carbon

with most other elements are exceptionally stable.

24, () omgfi s AT § wE s snad 5 wen fafau | med e ¥

forelt T © W ¥ D I W Y] d5F § R gNEdd giaT 8 2 38
HROT ST |

(b) =R Tl A, B, C 3 D & sciaeii-eh fow=amd - Jehr 2 -
A-(2,8,7); B-(2,8,1); C-(2,8,2); D-(2,8,8,2)
(1) T A HH-T a0 AT TGS ST A 1 2
Gi) 3 ¥ fpm o it wE B ww@ Bid R i = 2
(i) W ¥ 9 q q@ FHu FH Taehar guE 7 R S

ITI-3TE4T gRT ATk S & | 5
(a)  Write the number of groups and periods in the Modern Periodic

Table. How does the atomic size vary down a group in the periodic
table ? State its reason.

(b)  The electronic configurations of four elements A, B, C and D are as
follows :

1) Which amongst these elements will form acidic oxide and
why ?

(i1))  Which amongst these elements has the smallest atomic
radius and why ?

(iii) Out of these select those two elements which have same
valency and form compounds by ionic bonds.
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SECTION B

25. Tr=fafea & @ gwafa (9wed) 1 &1 Ira gHT | 1
(A) uferi IR syl & g
(B) &{gul 3R Sceda=/i % Ug
(C) uferi 3R AHal & UG
(D) Ui iR TwTEsi o 9@
Select the pair of analogous organs from the following.
(A)  Limbs of birds and reptiles
(B)  Limbs of reptiles and amphibians

(C)  Limbs of birds and human beings
(D)  Wings of birds and bats

26. I3 B FEAE g Bihidd Tass | offlen § fg@ved & fmfafaa =wor
TequT L TET 7 | ek Hag H T Y g | 1

(A) feavea 1 mufien =t
B) feguved =1 stfam =wor
(C) feavea %1 98 = fed Fifmwge fawfea & @1 8 Weg Fgeh T8
(D) TgEves #1 98 =1 EH sheges fawIiid &1 @1 8 g SiRehised Tl

A student observes the following stage of binary fission in Amoeba in a
focussed slide under a microscope. Select the correct observation in this

regard.

(A) First stage of binary fission
(B)  Final stage of binary fission

(C) That stage of binary fission in which the cytoplasm divides but the
nucleus does not

(D) That stage of binary fission in which the nucleus divides but the
cytoplasm does not
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27. THfaRed @ ¥ il o1 98 g gHT, ~odeh fREt i e 1 3T fgeletys
ST o YUT ST LI A oh [, TRl ST Hehell 7 | 1

(A) e, TSHT, HeX
(B) =T, B, HIhI
(C) I, TR, TSHT

(D) =1, T8, Hree

Select from the following a group of seeds, whose any seed may be used to
study the embryo of a dicot seed.

(A)  Ground-nut, Kidney bean, Pea
(B) Gram, Pea, Maize

(C) Maize, Wheat, Kidney bean
(D)  Gram, Wheat, Ground-nut

28. Ty=fcifea # & form om@ # 19 o 50 @ Tord areht foreft seprer fomor =1

Y HE Y 9 ST =T 8 2
(A) I

B) 1II

(C) III

D) 1V

In which of the following diagrams is the path of a ray of light passing
through a glass prism shown correctly ?

Gl padya)

A 1
(B) 1I
(C) III
(D) 1V
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29. aﬁmwmm%@@aﬁm,ﬁuﬁwzé,ﬁmﬁ
A 7, a1 Jed wfafers i sTmepfd et B =R 2

D d

w X ®

© < o <

If you focus a distant object of the shape
image obtained must be of the shape
D d

d D

D

INESY ® X

© < o

d D

using a concave mirror, the

30. T=fRgd & & fod oM@l # 3¥ad HI0T 3R A 01 &1 794 & o

SHIUETISH (D) i TE & d T T 8 2
) i
DI SR
N |
- |
I II
(A) 111
B) LIV
(C) 1L III
D) 1L IV
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32.
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In which of the following diagrams has the protractor (D) been correctly

placed to measure the angle of incidence and the angle of emergence ?

KN L

rad

£ | | '
| | N \DZ\
'.* i ' '
I II 111 v

(A) I, 1II
B LIV
(C) 1II,II
D) I, IV

P BT AT TRU-ATUGRAT T ARE HLd q0T Skt § TEH a9edfd ot §
20% NaOH foem fram @ a8 J&01 ot g 76 1

(A) SRt 6 STedl |dg 3 B S @ |
(B) Thsror &1 T1 9 & S B |
(C) e # i Yeeeree Bt § |
(D) Rt 1 STell g A Bl I 2 |

A student while studying a saponification-reaction on adding 20% NaOH
solution to a colourless vegetable oil taken in a beaker observes that

(A) the outer surface of the beaker becomes cold.
(B) the colour of the mixture becomes brown.
(C) there is a brisk effervescence in the beaker.

(D) the outer surface of the beaker becomes hot.

UHifeeh 3T o TUTgH! W T JTA T | 1
(A)  Ty-fes S A forenm @ e e
B) Tu-feres S e foTerg = e

[aY o

(C)  Tg-HR I fret ferend vl A1

o

(D) TY-IR FHT; A foIemg i e
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Select the correct pair of properties of acetic acid.
(A)  Smell-like vinegar; turns red litmus to blue
(B)  Smell-like vinegar; turns blue litmus to red
(C)  Smell-like orange; turns blue litmus to red
(D)  Smell-like orange; turns red litmus to blue

33. I3 B HR-dR Thfesw v o ueh-eE vl wEHelt ¥ g I fHerar 8
3R I Y101 LT 7 Toh el | 1
(A) T 1 3T W & AT 2 |
(B) T%g &Y ST B |
(C) Ta=® foetam o= S 2 |
(D) TTEH 3 TedH 19 & et fFeherd 8 |

A student gently adds distilled water to a test tube filled ith with acetic

acid and observes that

(A) a separate layer of water is formed in the test tube.
(B)  a white precipitate is formed in the test tube.

(C) aclear solution is formed in the test tube.

(D)  bubbles of a colourless and odourless gas are released from the test
tube.

34. 39 99T AW F1 YU HLd & T& AT CHIfeH o il S ¢ 39 Wael §
firema 2 o o ? 2
(A)  3TEd e ?
(B) o« fofemd faeme 2
©) e ferenw foemm 2
(D) ETEHS g ?

What do you observe when you pour a few drops of acetic acid to a test
tube containing

(A) Distilled water ?
(B) Red litmus solution ?

(C) Blue litmus solution ?

(D)  Universal indicator ?
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85. % # gpad i UfshAT hi ST 39 UMGRAT % fafim =Xl 6 WE shu o
ATfeRd TR Eieht iR | 2
Explain the process of budding in yeast by drawing labelled diagrams of
different stages of the process in a correct sequence.

36. fTr=fafaa foror M@ #1 s1ewea hifSe 3 38 di9d 999 3 g/ 6l T8
fopmal Q1 AT T I hINTY | 37 (AT 1 gL leh ford h1 Teurfd & daged
yfefaes < aredfeass fefa st g o foe g8t forror s Eifem | 2

2F F,

Study the following ray diagram and state any two mistakes committed
by the student while tracing it. Rectify these mistakes and draw the
correct ray diagram to show the real position of the image corresponding
to the position of the object.
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